Mismatch ‘MY’ Code Logic

Basis:

1.  Taken from the perspective of the Agent/Depot for the purpose of minimizing “MY” (Multiple Year) mismatches and posting receipt and shipment transactions to the X-B report.

2.  Use the Transaction Entry Date (TED) of the transactions, not the Julian date (which can possibly be quite old) embedded in the transactions.

3.  D6_ = Receipt by Agent/Depot of “F” condition asset(s).

4.  A2/5_ = Shipment of “A” condition asset(s) by the Agent/Depot.

5.  Agent Receipts (D6_ / “F”)


A.  A receipt occurring  during the first 30 days of the FY of the ‘TED’ can apply to the workload of the previous FY (e.g., an “F” asset received on 30 Oct 2001 could be in support of an FY00 workload – due to shipment by the Principal late in FY00).


B.  A receipt occurring  during the FY of the “TED” can apply to the FY workload of the “TED” (for obvious reasons). 


C.  A receipt can apply to an FY workload later than the FY of the “TED” (i.e., an FY00 receipt could be in support of an FY01, FY02, FY03, etc workload; but, should be applied to the newest unsatisfied workload first).   

6.  Agent Shipments (A2/5_ / “A”)


A.  An Agent shipment can apply to an FY prior to the FY of the “TED” due to carryover, as follows:



Exhibit-I:  “TED” minus up to 24 months can equal the FY of the applicable workload – due to long shop flow days of large systems).



Exhibit-II:  “TED” minus up to 90 days can equal the FY of the applicable workload – due to late receipt of assets from Principal, or late induction of assets by Agent/Depot).


B.  An Agent shipment can apply to the FY workload of the “TED” (for obvious reasons).


C.  An Agent shipment cannot apply to an FY workload that is after the FY of the “TED” (e.g., production/shipment for an FY02 workload cannot occur in FY01).

